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USING BISECTOR THEOREMS In Exercisas £1=26, match the angle |
or segment length dascribed with s correct valug,
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37. MULTI-STEP PROBLEM Use the map \
shown and the following information. "
A town planner is trying to decide whether
a new household X should be covered by
fire station A, B, or C.

a. Trace the map and draw the segments
AB, BC, and CA.

b. Construct the - perpendicular bisectors of
AB, BC, and CA. Do the perpendicular

: apoint? YOS, 1413 called G
bisectors meet at a point i O Tt s

¢. The perpendicular bisectors divide the

town into regions. Shade the region
closest to fire staﬁorﬁqﬁg Shatggngle
region closest to fire station B blue. Shade

the region closest to fire station C gray.?™“"”

d. W/zdmy In an emergency at household X, which fire station should
respond? Explain your choice. Sto4i0n A Shouwlal (BN de. ke conian.
1+ 15 closen TO@ Non ool +B(see midpts 75'
USING MEDIANS OF 4 TRIANGLE In Exercises &2, use the figure below and
the given information. o

- . A
P is the centroid of ADEF, EH | DF,
DH=9,DG =75, EP =8, and DE = FE.

Find the length of FH. Find the length of EH. -
His midp+ EP=FEd Gdoid™ £y 11, i
. i a
» « Fi=Di+ 0nd S=Lr%4x) EH=g+4
k=9 :M:nwi-?;x_ EH =12
Find the length of PH. Find the perimeter of ADEF.
Ph =1 P =1 unids
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Use the triangle WHA for #1 & 2.

1. 1f WPis a median and an angle bisector, AP = 3y + 11,

PH =7y — 5 m/HWP = x + 12, mZPAW =3x — 2, |
and mZHWA = 4x — 16, find x and y.Is WP also an

altitude? Explain.
Find x:
<HWA = A< HWP ouf of ¢

Bisector
YK =il = Q(x+12)
q

FLQQ__L_) HP=pPA %aa{ﬁn

1y-5=3y 41

y=kE4

Sum Seuy §

<) A

x-llo = Zx+2M4
gy < WPA 260

v WP s Bnaléhete
2. I WPis a perpendicular bisector, n/WHA = 8¢ + 17, by <4
nzAHWP=10+q,AP=6r+4,andPH=22+3r,

ind r, g, and mZHWP. .

Find {m A‘] B e IjF_lL‘_‘_i_C dehe €l bisechor

HWP = [7°
Q0 +< WWP $ <WHRAZI 70 rr:;,'tuw—l <Su-b$'l’i-\4~'\'i°n‘
o0 + 10 40 + 8q +171=180 |

® =3r
C‘lQ*‘“" = \80 (b:f}

9 =63
Use The foliow-mg with the figure to the_right.

InAPQR,ZQ =32 —~11,ZP =g +5 PY=2c~1,
YR = 4¢ — 11, m£PRZ = 4b — 17, mLZRQ = 3b — 4,

- mLQYR = 7b + 6, and m£ZPXR = 2a + ox
P
3 PXisanaltitude of APQR Finda,
T <PAR =90 dud oy oultitde '
2a +l0 =90 A
Ao = g0

If RZ is an angle bisector, find m/PRZ. .
<PRZ 2<LRQ Ol oy & Pisector
b ~1T2 Bl -4 |
b =13
< PRz= 413 =11
<{PRL: 35°
FirAl_dAPRif_(Q—fisamedian. .
= YR dak o ruot .
‘Q—ch/-\ y QC,\\ Fp\: P\‘-‘.YR- S{SW; QML’(“\Q/\.
s e PR= A5 ~I + H4(s) il
R TPR =18 umiksl
1f QY is a perpendicular bisector of PR, find b.
<SQYR =90 duh afy L biseetor

1o+ =90
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